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Applications: 4
— web cronling (how Goagle fids pag )
— social v\ejworkivxg CFacdosi friend & V\(Qs%
— ccmpuJ‘Er vlejwork‘si (\m\i\' 9 e Ivﬂ‘emeﬁ
shorfest paths  Inext unit]
— solving puzzles & games

— checki g mathematical con \)ecfrures

Packet Cuboe: Q2% Eu\oik‘s cube
— configuratimm  graph:
— \er“rex for ecfd\ POSSi[@QQ State
— edge for each basic move (e9., 90° furn)
fron one state o another
— undivected: moves are vevessible
— P@ng gilen it shate s.
*ﬁv\& G Pa‘HA to the SOQVQ& s‘lmLe
— Hvechices = X.' ’ 2)8 = 264,539,520 @

& cubelet iv\j\ Neoch cubelet
avbitvary positions hos 3 possibile tuists
— Can ﬁd‘cr oud‘ 52”“\ ~f&%2 5gmmew O‘F cube’
(PX one CuBeQéf 33
= 20 - 37 = 1{.032.4%¢@
— W fodh. gmpL\ hos 3 comected componevﬂ‘s
o @»°KUAQ Sz = cmﬁg need fo search 1 one
= 7l 36 = 3,674,168
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distance  90° fums 4 1'§Q turhs
@ 1 1
1 G 9
N, L7 54
3 136 31
G 534 1.347
5 Q.56 1994
6 3.369 56,136
7 33,358 231536
3 114,149 376,812
9 36@.568  1.38%748
10 92@, 588 033,300
11 1.35¢, 353 2.649Y & diameter
13 782,536
13 98,233
14 376 < diomereyr

267141608 3,674,160

http://en.wikipedia.org/wiki/Pocket Cube
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Representive, araphs: (dota sfructures)
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verfex = any haslable cEJecT €9 w\f&upﬁg
- a&\Io\nJrcxge‘- mm&i@fl@, gvaPL\s S Same \ertices

OLJ ect- O en*eco \JQY¥ TQJYIGY\SI
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— u.ne?;‘n\oo\r:s = [t of V\eykbors 12. AdjTuf

“Tncdence fisls:”
—can also wnake edses o\ez/‘eds O0——0)

e‘a e Q oh
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oes = o@}fw%
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erfing,_avaphs: Gor'd)
lze?@o%bov‘ej éé_r‘g/sewhﬁom ae goo& for sparse
graphs where 6] << (V" —

\ T = @(\/+E>
Spoce.  \eguiremen R 2ot beflor wifl

A&jgcgmg maleix: s wside O/0
—assume =31 -3 (humber vertices)
— A= (acj\ = | X{\/, W\OC‘YD(
where ay; = Z L if ())E (=W
@

stherwise J= colmn
13
eg. g A %% 1)1
= 1 ]2
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— good for dense graphs where [E\=~(V|?
— Space rec%mmmev# = O(N?)
—cooll propecties like A2 gives feusthd paths
X Go%Qe Pageﬂemk ~ AP
— but well varely use it
(Gooole caddnt+ IV = 20 Lillion = WP - 1629)
(50000 pefobytes)
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